o x Y X ¥
|,.(1,10) (2,25)
RPEI NP NS

T R
n5=10-b

b+2.5

2, (.103) (-1, 4.5) |
24 b |
= oh _f(L_

. 3 (2.0 (454

'gazbz 5420 b1 bolo & 2
ah. £y. b)b" REREREN
RETY NN Em‘ |

4 (52 LoeY (2 o]8D ]

b5 5T 12.8-0-b7 PN
G .0 1

_.osz%_ 2.8 = (os\a% o 45
NS .8 skt T |
o=, 0Sh 756-—3* L\SZ L& (4 Y

HER b= L - 1




7. 3 /o \\52.7(0@ | 73/025(%3)

1o \; s(fm')“ '//' 5 ?2/233 | 123 4/(72’3

—

1%, decaj m.ml\)am bN=2 | w gmm a=8 |

o decrease. 1070




it 7 -/
By 27 () o e sz@
x]J -
s T~ w =D ')’(‘ry’\v
l - ; Y |
,‘\ /f | \\_7 lo 'W
M

hﬁM’Z
XBX H XA
01!
V3
| M |5
w42
17 Y=-0+3= ‘//o) g
\W’ﬁh‘f ’(,O) V@(&L‘{’Nh acn
—_ 9':”‘—\ 1 U—P3 ~
| & Xy
! PKV\CV\_I © %, Z) ’0 715
ol \]:’Zr)c CL \DMCD Y M|t
4 ,{LDU"’V! (9 ‘ —.LY,\,
‘ 1 3\~ ‘?( D < J\ \AZ -
—g( <__— | /v | ; ) a 4
0 g
-2 \
A i\_%_b %':"Lo



